(3) {EEHOLB =R LATIER R (BEGR])

(ks - 1 nd, Z8E : %)

P w P ea % H
NEAT | K2 HE Wb 2% B | ARE R ¥ W oo FT fE Hb 2 FNSELA RS SRR | BB
M,/ n M i %

1 [H%—15 TIER WZHmMN3TH28%124 222, 000 239, 000 7.7
FEm3—19—21

2 |BiyE— 2 IR BT X B 2 TH1 7% 9 400, 000 430, 000 7.5
[Ty 2—17—15]

3 [BFrr—4 TIELR BRI BF3THT 67 88, 800 95, 000 7.0
[##%F7F3—31—31

4 |2 <IEH BV — 4 [F IR SOLNEH L WK,y T2 TH14%6 64, 000 68, 400 6.9

5 |MfE—4 3 T IR BT 3 TH2720%293 176, 000 187, 000 6.3
FEEr3—17—91

6 |HZE—10 T I BEMANI1 TH16%&4 2 259, 000 275, 000 6.2
I41—11-—51

7 | AEH—38 TIER AKEHTAHE4THL 9%S 47, 300 50, 200 6.1

8 |MhfE—22 TIELR METATATH1519%1 300, 000 318, 000 6.0
[AHT4—28—16]

9 [Exr—11 HUAR BAXELER2 TH20%1 2, 730, 000 2,890, 000 5.9
TREkHEE2—20—7]

10 |REEESR — 20 |[MRIE |BUETEBEAEXERFR2TH1I894% 359, 000 380, 000 5.8
MRk 2 —14—28]

(flif%s - M, m, E#=E %)
PN 3 5] ea £ H
NEAT | HZ 4 Wb 2% B | ARE R ¥ W oo FT fE Hb 2 FNSELA RS SRR | BB
M,/ n M i %

1 | KIRKEF—6 | KRIF KR REFX EW4THAE?2 802, 000 855, 000 6. 6)
F[Ew4—4—25]

2 | KBkH—3 NS KB RX ERT 1T TH1 5% 2 724, 000 771, 000 6.5
FTEHr1—15—15]

3 |[m#B ER—1 3 [sEBAT AT BRI/ NIEE 5 T2/ 2 0 6 & 1 540, 000 574, 000 6.3

4 |EHES TR — 2 THBAF TERT PRI AREIERET 7 & 1 14+ 262, 000 278, 000 6.1

5 | KBrvE— 1 KIBRFF KRBT XL 4 TH 7% 663, 000 703, 000 6.0
Fdtsgit4—13—51

6 [Bdk—9 NS b &2 T 5% 9 210, 000 220, 000 4.8
FHr&fmr2 —5—2 5]

7 |- 3 NS M RKERG6 TH183%7 171, 000 179, 000 4.7
TREHR6—8—4]

8 |MFHE—10 RS AT X AL 8 TH 3% 9 317, 000 331, 000 4.4
F#edbime8 —3—181J

9 |[XBxdtE—3 KIBRFF KB ATALALHERT 1 2 5 % 728, 000 760, 000 4.4
[ALHERT 6 — 6 ]

10 |HKB—4 2 NS HRWkm/MR 1 TH21 743 297, 000 310, 000 4.4

/K1 —10—35]




(ks - 1 nd, Z8E : %)

4 R =] ¥ ES o
NEAT | BE % Wi & 5 | BEFIE = YE H o pr (& Hb 2 FNSELA RS SRR | BB
M,/ n M i %
1 (A WER—38 I LEERTHERTITHS 0 2% 950, 000 1, 100, 000 15.8
[R1—-5—26]
2 |&EBh—4 5 IR AHETPRIONSITHS O 1% 990, 000 1, 140, 000 15.2
FHDOHN3—8—11]
3 |&aHEf—3 5 IR A ET PR ERE2THL 20 8% 640, 000 720, 000 12.5
[ERiEE2—12—9]
4 |BEEP—2 5 IR BT RZE2THG6 1 2% 1, 400, 000 1, 570, 000 12.1
I%2—6—17]
5 [#EEFIN—15][EFmE BT R)IXAERT1 THS 4% 3 119, 000 132, 000 10.9
6 |[#EBR—7 5 IR A ETEEAE2THLS 0 3% 177, 000 192, 000 8.5
Fsz2—15-—31
7 &b EFI -2 0 |FmR A ETHRINXAFHET3S THS 6% 130, 000 141, 000 8.5
8 |[#EBE—5 5 IR A BRTREEHE3ITHL20 2% 240, 000 260, 000 8.3
[Fe3—12—17]
9 |AhEE-—4 IR AEERTHEEXMAET 270 1% 546, 000 590, 000 8.1
TMEET27—30l1
10 |#yE— 2 8 5 IR HIFTTORHEIT#A 1 2 2% 1 132, 000 142, 000 7.6
CRYEAR B 8 5 HIX 5)
(flif%s - M, o, E#=E %)
o5 5] F e H
JIERE | #2 % % 5 | ERE TR = YE H o pr (& Hb B FNSELA RS SRR | BB
M,/ n M i %
1 [EEE—1 AeviEE bR BT 1 TH 1 0% 3 36, 500 46, 000 26. 0)
2 |[dbRE—4 AeviEE IBAETER3ITHAES 38, 000 47, 000 23.7
3 [HdbRE—6 AeviEE EEHEREE2TH20%5 24, 500 29, 800 21. 6
4 |\HRF—5 i GXFTERE3% 1 THS 6% 15, 500 18, 800 21.3
5 [dbRE—11 AeviEE JBEBHEORIT 3T HS8%ES 27, 100 32, 500 19.9
6 |dbIEE—9 AeviEE LR ETEMRT2 THS &7 23, 600 28, 300 19.9
7 HURE—7 i bEEmRiimEsy E3TH14%5 26, 700 32, 000 19.9
7 |aFF—9 i AP 84 TH25 5% 26, 700 32, 000 19.9
9 [dbIEE—10 AeviEE LR EmimEFR1THE6%F1O 11, 600 13,900 19.8
10 |iTHl—1 2 AeviEE TTRITTEFIRNT 2 3% 6 45, 500 54, 500 19.8
(&)f IHERFR
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